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What can we learn from the man from the
conversation?

A. He’'s anxious to see his sister.

B. He wrote to his sister last month.

C. He's expecting a letter from his sister.

REHNERN:

M: I haven’t heard from my sister since last

month.

W. Don’t worry, Charlie. Letters from the

United States can be slow sometimes.
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What time does the train leave?

A. At 6:15. B. At 6:25.

C. At 6:50.

REHNEN:

M. I'm afraid we’ll miss the train. What time

is it now?

W . It’s 6:15. There are 10 minutes left. Let’s

hurry.
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Where did this conversation mostly take

place?

A. At a concert. B. At a flower shop.

C. At a restaurant.

FRENERN:

M: The music and flowers are lovely.

W: Yes, I hopé the food is good, too.
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Why does the man thank the woman?

A. She has helped him with his problem.

B. She has invited him for coffee.

C. She has agreed to see him on Monday.

REHNEN:

M. Thank you very much, Miss Tims. That
helped me a lot.

W: I'm glad I could be of some help, Carlos.
Let me know if you have any more
questions later.

M. I will. And thank you for giving up your
coffee break to help. I know you need one
after teaching three classes.

W: Oh, I don’t mind. Teaching is what I love
most.

. Well, goodbye. And thanks again.

M
W. You're welcome, Carlos. See you in class
T
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9. Where is the woman going?
A. Bridge Street. B. The cinema.
C. The station.




10. Where is the cinema?
A. On the corner of Bridge Street.
B. Next to the station.
C. On Station Street.
11. Which turning should the woman take on
Bridge Street?
A. The first on the right.
B. The first on the left.
C. The second on the left.
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1. What does the woman mean?
A. She wants to borrow Charlie’s library card.
B. She will borrow some books for Charlie.
C. She will lend Charlie her library card.
2. Where does the conversation probably take
place?
A. In a supermarket.
B. In a bookstore.
C. In a restaurant.
3. How much was a pack of cigarettes last year?
A. $2.00. B. $1.80. C. $1.50.
4. What does the woman want the man to do?
A. To pick up her car.
B. To order a spare part from a factory.
C. To give her a lift tomorrow.
5. Where did the man go this morning?
A. He went to the airport.
B. He went to the railway station.
C. He went to Guangzhou.
EoWGEI5 BN LS 5, ES 22.5 9)
WRES B iERME., SBEYMESIMBEH
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6. Who are the two speakers?
A. Two students.
B. A doctor and a patient.
C. A teacher and a student.
7. Why does the man call the woman?
A. To hand in John’s term paper.
B. To ask for leave for John.
C. To ask her to see his sick roommate.
8. What does the man have to do in the afternoon?
A. To visit the woman.
B. To meet the secretary.
C. To have a meeting.
W R E— B X E, BES 9 B 11 =AM,
9. Where are the two speakers talking?
A. In the man’s office.
B. Over the phone.



C. At a university.
10. How did the woman learn about the job?
A. She heard about it from a friend.
B. She saw the advertisement on TV.
C. She read the advertisement in a newspaper.
11. Why is the woman interested in the job?
A. Because it pays well.
B. Because she is good at foreign languages.
C. Because it is near her home.
WrF T — B X i, E A 12 B 14 =A/ME
12. What did the woman do a few days ago?
A. She had a bad tooth taken out.
B. She had her new tooth examined.
C. She had a false tooth filled in.
13. What caused the woman’s tooth problem?
A. It didn’t fit quite right.
B. She didn’t take good care of it.
C. She didn’t use it properly while eating.
14. What’s the time of the appointment?
A. After 11:30. B. Before 10:45.
C. At 11.:00 sharp.
Wr T — B X A 15 B 17 =4/,
15. Where does the conversation take place?
A. At a travel agency.
B. At the airport.
C. At the customs.
16, How does the man plan to travel?
A. By air. B. By ship.
C. By train,
17. How much is the ticket for one way?
A. 1,400 yuan. B. 4,010 yuan.
C. 4,100 yuan.
T E—-BME, S 18 T 20 =4 /MME,
18. How many countries did Mr. Bell visit last
summer?
A. Only one.
C. Four.
19. Why did Mr.

returning home?

B. Three.

Bell feel very tired when

A. He visited too many places and was always in
a hurry.
B. His holiday was not long enough to travel
in Europe.
C. He walked too much during the visit,
20. What will be a good idea to spend a two-week

summer holiday?

.....................................................

A. Visiting only one city by the sea with a
friend.

B. Visiting only a few cities near the sea with
a friend.

C. Visiting only famous palaces in different

cities.
(2)
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1. What is the weather probably like?

A. Rainy. B. Cold.

C. Sunny.
2. Why can’t the woman go to the movie?

A. She doesn’t like it.

B. She has seen it before,

C. She has to see the doctor.
3. What is the man going to have for lunch?

A. A hamburger.

C. He hasn’t decided.
4, What is the man going to do this weekend?
B. Clean the house.

B. A slice of pizza.

A. Stay at home.

C. Drive to the beach.
5. Where does this dialogue take place?

A. In a restaurant. B. At home.

C. At the supermarket,
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6. What does the man usually do on Saturday?

A. Visit his friends.

C. Go shopping.

B. Visit his aunt.

7. How is the man’s aunt?
A. She is quite old and in poor health.
B. She is quite old but in good health,
C. She has just had an accident.

8. What do we know about the woman’s left leg?
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A. She hurt her left leg in an accident.
B. Her left leg hurts whenever she walks.
C. Something is wrong with it because of old
age.
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9. What is a heart transplant?
A. You put a man-made heart into the body of a
patient,
B. Two patients exchange their hearts.
C. You take a heart from one and put it into the
body of another.
10. Which brain is the most expensive according to
the doctor?
A. A sanitation worker’s.
B. A politician’s.
C. A university professor’s.
11. Why is the politician’s brain the most expensive?
A. Because it’s most clever,
B. Because it has never been used.
C. Because there are fewer politicians than
professors.
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12. What is the relationship between the two speakers?
A. Husaband and wife.
B. Taxi driver and passenger.
C. Good Friends.
13. Where does the woman want to go?
A. 1323 Wilson. B. 1232 Wilson.
C. 3023 Wilson.
14. Why can’t the man make a U-turn at the
corner?
A. TIt’s rush hour.
B. It’s a one-way street.
C. The street is too narrow.
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15. Who is the man?
A. The woman’s neighbor.
B. The woman'’s friend.
C. The repairman,
16. When will the man come?
A. In a short while,
B. In the afternoon.
C. Tomorrow morning
17. Who broke the window?
A. The woman herself.
B. Her children.

C. Some children playing in the street.
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18. What job can an earthworm do?
A. Tt gives food to other animals.
B. It makes good soil.
C. It dig tunnels that makes the soil loose.
19. What will happen when the plant materials are
carried underground by earthworms?
A. They make the soil rich when they rot.
B. They make plants fresh.
C. They make the soil well drained.
20. How much soil can 50,000 earthworms carry
to the surface of an acre of land one year?
A. Eight tons. B. Eighteen tons.
C. Eighty tons.
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1. Where does the conversation take place?

A. In a restaurant. B. In a grocery.

C. At a theatre.
2. What does the woman mean?

A. She will go to the concert.

B. She doesn’t like to go to concert.

C. She wants to go but she can’t.
3. What does the man have to do?

A. Return the tape to the woman at once.

B. Keep the tape for another week.

C. Borrow the tape from the woman next

week.

4, Why does the woman call the man?

A. She asks him to return her notebook.

B. She is looking for her address book.

C. She is looking for her diary book.
5. What will the man probably do?

A. He will go to bed and take a rest.

B. He will close the window.

C. He will take some medicine,
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6. What does the woman think of action movies?
A. They are full of fun.
B. They are too noisy.
C. They are full of violence.
7. What are they going to do tonight?
A. They are going to the cinema.
B. They are going to the movies store.
C. They are going to have a party.
8. What kind of movies are they likely to see that
night?
A. Horror movies. B. Action movies.
C. Love movies.
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9. What does Jack think of the final exam?
A. It’s easier than the one before.
B. It’s not difficult at all.
C. It’s very difficult.
10. What is the reason Jack thinks he failed the
exam?
A. He was not careful enough.
B. He did not study hard.
C. It was too hard for him.
11. What will they do tonight?
A. They will visit some friends.
B. They will have a party.
C. They will study for the exam.
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12. Where did the two women actually meet?
A. At the east entrance.
B. At the main entrance in the front.
C. In the women’s clothing department.

13. When did the two women actually meet?

A. At 2.00, B. At 2.30.
C. At 3:00.°

14. What did Jerry plan to buy in the beginning?
A. A sweater. B. A blouse.

C. A skirt.
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15. Which place does the woman want to go to?
A. The Town Hall.
B. A Shopping Mall.
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C. The airport.
16. Which of the following will the woman go by

on her way?

A. A big hospital.

C. A train station.

B. The Town Hall.

17. Which two places are close to each other?
A. The East Town Mall and the Town Hall.
B. The East Town Mall and the airport.
C. The Town Hall and the airport.
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18. Who does the speaker probably talk to?
A. Students from China.
B. Students from America.
C. Students from the UK.
19. Who can attend the class?
A. A girl of 6.
C. A man of 76.
20. Why is it better to stay with the local families?

B. A boy of 16.

A. Tt is cheaper and safer to stay.
B. You can learn more of English culture.
C. You'll have more time to travel with native

speakers.
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1. Where will the woman go on Saturday?

A. Have lunch with the man.

B. See the dentist.

C. Stay at home.
2. What does the woman mean?

A. She couldn’t afford the handbag.

B. She got the handbag for $5.

C. She did not like the handbag at all.
3. What will the man probably do?

A. He will stop working.

B. He will show the woman his trouble.

C. He will show the woman the steps.
4. What can we infer from the dialogue?

A. The man would be fined by the policeman.

B. He escaped because no one saw him,

C. He stopped at the traffic lights.
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5. What are they doing this weekend?
A. They will go to the exhibition hall.
B. They will go to the museum to see an
exhibition,
C. They will see an exhibition in the City Zoo.
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6. Where are the two speakers probably talking?
A. At the box office.
C. Over the phone.

B. In the cinema.

7. How much does the woman have to pay for the
tickets?
A. 6 pounds.
C. 16 pounds.
8. When is the film that the woman is going to

B. 12 pounds.

see?
A. 5:30 p. m., Saturday.
B. 8:00 p. m. , Saturday.
C. 8:00 a. m. , Sunday.
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9. What is the relationship between the man and
woman?
A. Teacher and students.
B. Classmates.
C. Mother and son.
10. Why didn’t John come to the class last night?
A. He was writing a report all day long.
B. He was late for class, so he did not go in.
C. He is considering giving it up.
11. What can we know about the man?
A. He had studied French before.
B. He is interested in learning foreign languages.
C. He is from an English-speaking country.
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12. When was the woman’s house broken into?
A. Between 10:00 and 12:00.
B. Between 1:30 and 2:00.
C. Between 12:00 and 1:30.
13. What has been stolen?

A. Some money and a TV set.

B. Some jewellery and a TV set.
C. Some money and jewellery.
14. Where did the woman put her jewellery?
A. The good in the bank and the common in
the bedroom.
B. The good in the bedroom and the common
in the fridge.
C. The good in the bank and the common in
the fridge.
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15. What did the man do with his old car?
A. He sold it.
B. He repaired the engine.
C. He repaired the wheels.
16. How does the man feel about his old car?
A. It was more comfortable.
B. It was worth the money.
C. It was in bad condition.
17. How does the man feel about his new car?
A. It is not worth the money he spent on it.
B. It is worse than the old one.
C. It is much better than the old one.
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18. How did the speaker get up in the tree?
A. He used a ladder.
C. His friend helped him.
19. What difficulty did he meet when he was
trying to help the cat?

B. He used a rope.

A. He couldn’t reach the cat.
B. He couldn’t come down.
C. He got hurt.
20. What happened after the speaker got down
from the tree?
A. The cat climbed up the tree again.
B. He couldn’t find his friend.
C. The cat attacked him.

(5)

FE—H(ES5IR;HFENHELS 2, %29 7.54%)

T E S BXiE. BERIMEREAR —N/MNE, M
BT B AB.C =R 3 Y BRI, 5
ERENHMAE, WESERXMNER,HRBAE 108
Ph e et (E] ok B A A X/DEMBET —/MNE. BB
WEALE—H .
1. Why did the man fail to attend the party?

A. He didn’t take a note of the party.



